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        Intermediate 2

1.
The points scored by ten rugby teams one weekend have been put in order

3     5     8     14     21    22     26     34     50    50


a) Make a five – figure summary


b) Draw a box plot to display this information.

2.      A jeweller uses two different arrangements of beads and pearls.
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The first arrangement consists of 2 beads and 5 pearls and has an overall length of 5.2 centimetres.

The second arrangement consists of 3 beads and 2 pearls and has an overall length of 5.6 centimetres.

Find the length of one bead and length of one pearl.
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3.
In the diagram opposite AC and BD 


are arcs of circles with centres at O.




The radius, OA, is 8 metres and the


radius, OB, is 10 metres.


Angle AOC = 72°.


Find the shaded area.
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4.


Find the equation of the straight line AB.

5.
Express
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as a single fraction in its simplest form.






6.
A pharmaceutical company makes vitamin pills in


the shape of spheres of radius 0.5 centimetres. 
(a) Calculate the volume of one pill.

Give your answer correct to 2 significant figures.


The company decides to change the shape of each pill to a cylinder.

(b) The new pill has the same volume as the original and its diameter is 1.4 centimetres.
Calculate the height of the new pill.
5.6 cm





5.2 cm
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